Comment o ’le«&vf; en 2/ 10.
You ome vt éuﬂyosea( to asume thet Qn= o(—_y')—'
Peca”: €l~FA=D<
o W Yaech, asx.
(i) Veso, JacA. (-9 <«
Tt shald never be mistake,
as eriuaﬂi’c(j
You HAVE ABSolUTE LY Mo Col [RoL OVER
THE EXACT FoRMulLA FoR a.
Al you know is that @ Sies somewhwe in (o(-f_{[

Txaﬁle: A: ? I"‘é’;; n= L 2,"'; SWFA= 1
“Thew 12»/ £=-‘:, —thoe wxists Srme l——el\;:e (1--:7, 1:[

3200 Jip (]85 ) =1

HGER R

A/I/ = [

-5 -

- r’-t& 'J_j-ra 4

43 D<ach Does +he sequance {@JM l,")’l"j Comverge ?

Al bt (Pae)t 4
C]2°+42°)?° ~ 4.oos
CIIDO-FA(,M)T‘I;' ~ 4 oo



Guass: mooo, (a"L)" o |
Neote 4t 020 = a"+4b" 2 b" = (o™ L")—L > b
Want (A"t U)'k < §mue‘llﬁ«3/m[m-eul 4o b
Neote that O, = a"cb” = A"+ < b+ =2b"
S @) <@ =ar b
Sowe dwe b (o™ b)¥ <3 b
Fact . X" =1 as m-oes
?&F the ot © A2 2T Want: A0, mor6e
(An+ )" =2
Kecall - (a+b)"= a'+ CT)OLML—F ot (’D abE b
T‘F abso >o'+n o

S(147%) =22 140 = Fn<
/\]U‘EQ 'I'I\A‘(' 7{»,20 OL\II.WSIZ' So DS?ﬁ.é

With this Lot DT b= b as mo =
gc]kuze Aomma = /&T_Cau L*)‘E= 13

m. ’PVD'VC. _,-L’“: <ar+ Q: +QF>——9 max ?au aa, ;QJ
Hm‘l’. _FW ate O\ SIW»QW Lsth-mate & /FWVQ L——ﬁl as M-

“This com v?wwt—lw %@%a@ze o [E@(,{)){x;{ —> max 13(,:)
vFvv J‘?(,() Ww.zaq-bw Cortivimenus e [a,L]



45. 4 ép = 4 SQC(WZ/V‘CQ DF “focb@'la’ vwmbevs Oow\/\'wgma o Y.

P@h%i‘l’\g—rkmi VacbelR dvelR, a<v<l.

“Wi+h +Hhis ‘F{'\Lorem: \V/Xé]E, \\7/” € ‘Z'l') 3“{,@ (Q.
<$.4. ’){_—-l. <'Y"<7{.
n

l.2. —Puv each m, “we NMawe Tve R, st 7(-—L <Y, <.

" The geTWQ ?V"iv‘: OD‘WV?LS ‘o X ]og §cru.z-eu Lemma.

,,:Q 10’7ew;i-h,}—Tkl@owam:

(Bg Aycl'mwuclzom /]mr]—)uta 1QD7 Hhe T wsrtive Number 53_, ,
Have oxists *f\é‘z.; S-t. —-<L

“h

ge-t ™M to be +he ,Qowg;zs-t jnﬂj@« S -t. - < 5{
W\)ka com 1 make such a chwice?
?WGZ=%<2§ is boumded abie \)3 -fL.z inﬂj@y
/M Hhat is /Qw%(w Hhran 3,,51.

Cloin - = Jias in (4, 4).

M

swmpose -%VL < A, ‘f'le ng —l‘—<—‘321, e ’<m7w

Ccn“l’raohc'b{n.a/ +LL Cl’wiuz b«F wm .

™
= '7(<—n<a.



Mone Conmmants WngQwF /9.
| xeR, $FECR. xE={ax: xeE]
SW“E=7
Ans: i§ aso, swpwT =cswE
{]00(<o, Sup xE = m.in-]?g
Hing -t Considr me case, x>0, The othn s casy once s is cleas

() YyeoE , (jsovéufEb/c Vy e «E, Frek yzotx
(3). V€>0.§Heo<7£, st o(ghf’E_g<H_
((/ke, +he ﬂPms H:ooc, Some %€ E
and I xe L, su1>7:'—§<>f,)

s ?an, ?Lh} Oanw/rj,o-t Secr. D]O real! ywmn bers,
O, < lan ,V"GQ-U ‘f‘l\m /Qima,. <€ «QXML»‘

Nee hdso -

Hin-&: b —F{ys't Conside +the case An=0, l;,, > 0.
Tlm jﬂwqu case. Com be meucﬂ +» -{—L,;S Cose L.(,JL
SCHM-& Co=by-an Oomd consider ?c,j, 303 .

Kz)CCn 70,\7/W€N>/\CCn-—>C os h—>m>
Ayzw. -rL»t C Comnot L{ maa-b;ve,
T‘? Cmma,\t'w, —Pl’cL D<£<—DJ.ICI

INeZ, V>N, Cu< Cie <o.
CD‘/\-WAD{AC'{'JAB Cn>o, \/n_



